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Which of the following aspects related to shale gas drilling is not
discussed in this text?

A its disruptive effect on the public

B its economic importance

Cc its financial implications

D its impact on the environment

Tekst 8 Life at the extreme

27

28

29

30

How does the writer view the “basic units of measurement in tellyland”
(paragraph 1) judging from the tone of this paragraph?

A as colourful

B as educational

C as inaccurate

D as simplistic

What is the point made by Christopher Stevens about Davina McCall’s use
of “Bolts” in paragraph 2?

According to Stevens she uses it

A to help viewers better appreciate the ecological impact of insects.

B to make an unremarkable insect appear more spectacular.

Cc to make clear why she is fascinated by a particular insect.

D to stress how much research into insects her show involves.

Om een artikel te verlevendigen kan een schrijver gebruikmaken van

verschillende stijlfiguren, zoals:

a eufemisme

b paradox

c terzijde

d vergelijking

Geef van de citaten uit de tekst aan van welke van de bovenstaande

stijlfiguren ze een voorbeeld zijn.

Noteer de letter van de stijlfiguur achter het nummer op het antwoordblad.

Let op: je mag elke stijlifiguur slechts één keer gebruiken, dus er blijven

twee stijlfiguren over.

1 “though doing so would actually be a serious criminal offence”
(alinea 1)

2 ‘“like Speedy Gonzales after three cups of black coffee” (alinea 2)

What becomes clear about Christopher Stevens from paragraph 37

A He dislikes serious programmes that are presented by women.

B He is annoyed by the superficiality of Davina McCall and her show.

C He is unhappy because David Attenborough supports Davina McCall.
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Which of the following fits the gap in paragraph 47

A

B
Cc
D

After all

In general
Trouble is
What’s more

Tekst 9 Meet Zoe: a cat with degrees

32

33

34

35

Which of the following fits the gap in paragraph 1?

A

B
Cc
D

discipline
fame
literacy
success

Which of the following fits the gap in paragraph 2?

A
B
Cc

due to
hence
in spite of

Which of the following fits the gap in paragraph 3?

A
B
Cc

he managed to double his assets
he started his own practice
he went after bigger prey

Which of the following fits the gap in paragraph 5?

A

B
C
D

absurd
common
controversial
impressive

Tekst 10 Health and safety

36

Drie van de onderstaande vijf zinnen (a, b, ¢, d of e) zijn uit de tekst
weggelaten. (zie 36-1, 36-2, 36-3 in de tekst)

Geef bij elke plaats aan welk van de zinnen daar hoort.

Noteer de letter van de zin achter het nummer op het antwoordblad.
Let op: er blijven twee zinnen over.

a
b
c

d

“It is important that Health and Safety is not dismissed as a joke.”
“Schools should not take the law into their own hands.”

“They are more likely decisions taken by well-meaning individuals who
misinterpreted guidelines.”

“What parents often fail to realise is that they have first responsibility
for their children’s well-being.”

“What people sometimes hide behind when they misuse the health and
safety term is the fear of being sued.”
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